2024 | TARA YV ESIVERVIT<NFSVETF>
H**&H 2024/7/1

[3B5mULEBFY >~ 7 R] [35mMULEBFLTILR]

Rank K 4 i) RA v M EEEK Rank K 4 B RA v b EEEK
114 B B A4 bTrE 413 1
2% W B #||LWET=R477 289 1
318 # R fllzyvv77=2457 202 1
4+ F1 B BM brvE 15 1
AEE B & E|REET=2HB% 15 1

(40U EBF> v L R] [40UA EBFXTILX]

Rank K & & A v b EEHK Rank K 4 i B A v b EEH
1[® B zZ|TOoY'S Tennis Lab 550 1 1[& # £ A|TOY'S Tennis Lab 413 1
202 1 B B|F—LITvvR 534 1 208 B & A|WBET=RVT7 289 1

3| My B 2|l7vv75=2457 202 1
41 O B 2|REETT =2iER 15 1

(45U EBF v R] [45mULEBFLTILR]

Rank K % i) A v b EEHK Rank K % B RA v M EERK
1|3 JI| B {=]|TOY'S Tennis Lab 823 3 1|+ #8  #TOY'S Tennis Lab 1164 3
2|8 I B K|LWET=2477 818 2 1[4k & s£[T0Y'S Tennis Lab 1164 3
3B & BB|lrvvur=zs57 596 2 3|E JII # m|TOY'S Tennis Lab 883 2
4|FE JII 8 T|TOY'S Tennis Lab 535 1 4|7k B B BB|7vvvr=z2s357 519 2
5|+ 48  f|TOY'S Tennis Lab 498 1 5|%F M f&|ToY's Tennis Lab 470 1
61| B St HE|ERT=2s57 154 3 6(F JII B {E|TOY'S Tennis Lab 289 1
7| W8 EE|T E AMO/40 149 2 78 g B8 K|WET=2477 202 1
8|1k 4 K FHH| T -one 107 1 8lMW NIl = Blrvvrr=zs57 161 1
Q4 K B Z|7v9757=2457 18 1 Sl 4 KB Z|7v977=2057 161 1
10|53 £ fi& A|7vyv5=2s57 15 1 8|18 & B —|rrivr-vr=zs57 161 1

11{sh W8 EE[T E AMO0/40 15 1
11|17 B #f Bl(A b2 15 1
11{BE  # W|lovans=z27n7z— 15 1

[50mULBF >~ 7L X] [50mMU LB FLTLX]

Rank K % B A b EEH Rank K % B A v b EERK
1|t B # &[T E AMO0/40 555 2 1t B B E|7ror-—vr=2s57 432 2
2011 & & =|&MTA 551 2 211y A& B|rroor-vr=as57 363 2
3EAIN ER|puyvs7=2057 385 2 & B w L|AWEST=-XBS 234 1
41K [ IE (&|evanatvnr=zs57 247 1 41 B L Flrrrvr-vr=zs357 230 1
5(F ¥ IE M|EBT=Rs77 235 2 5[ X 1B B|LET=2077 202 1
6|{E BE #Hk B|TOY'S Tennis Lab 220 3 6|{F B Y JR[TOY'S Tennis Lab 161 1
7|F B # =2|TEAMO/40 145 2 TIER)N BE|surrrr=2s57 114 1
8| B K Bh®ERETT=XiHR 116 2 8|K [ IE j&|evannqvar=assy 79 1
e 4 K ¥ |7 rrrr-vr=2s77 9 1 otz B #h ®| T E AMO/40 15 1

Il A 18 =E|RDTA 15 1
9| B K BEKETT =XiBR 15 1
9|T B = =|TEAMO/40 15 1




(55U EBF> v 7 x] (55U EBFLTILR]

Rank K %4 B RA v M EEK Rank K 4 = RA v b EEEK
1| B R F|zvarrirrr=zss7 644 4 1K 2 ZH|AbTroE 428 2
201 &K F|zvaracvarzassy 449 3 2|1 & L E|srvberryy 368 2
3|3 M B E|meraorrzzs7 381 2 3|8 A& F|ENDTA 363 1
4lAKHEZE ERAFETC 381 2 4E X E|7rAv—n—FTC 254 1
5(i % Z \AEHT=ZHR 127 1 5l A Z|evasasrrrzasss 15 1
S BAR F] B |cvanarvrr=ars 127 1 S{EBM F] & |cvarnvrr=assy 15 1
W £ E sElreorvrmarsy 107 1 5|F M Y fF[TEBTC 15 1
8l B E 2|7y =z2s57 33 2

(60U EBEF> > L] [60mULEBFLTILR]

Rank K % i B A v b EEHK Rank K % B RA v M EEHK
14 K @ —|-w5775-17=2s57 5539 4 1 4 K 8 —|-8574-17=2s57 684 2
217 IR B Elzvrradrar=zss7 379 2 218 K — Z|&EMTA 363 1
3% W B T|ABHT =R BR 201 2 3|17 |/ B El|rvareavrr=zsss 240 2
4lF B m|EEsEGET 2B 149 2 AlF MW FElemsmEGT 2B 234 1
5|8 4y 38 =E|vvHvr=2s57 42 3 5% L B T AE®mT = 2iBR 195 2

[65mULEF> v 7 ILR] [65mULEFLTILR]

Rank K % i B A v b EEHK Rank K % B RA v M EEHK
118 B RIAWMESRT=2ipe 353 1 1|17 B & Z|AmERT = Xipe 310 1
21N B F F|771v k77222057 200 5 1E B R|AWEST=2H 310 1

e B #E|Y—ILT 33 2
3 B Z|H—2o T 33 2

[7T0mAULEBF> > 7L R] [T0BUEBFLTILR]

Rank K % B A b EE Rank K % B A v b EERK
1N\ B L E|574>r75=2257 1752 3 1IN\ B f =574 F757=2257 1084 2
2|8 2 X #|MARS-T 1037 4 2|#k 2 X &#|MARS-T 552 2
3l H R|EEMT=RIIT 224 4 3 B —|masEmT-2ise 310 1
4B B —|emEEmT-xB 18 1 3| B E|sTvrrrEzos7 310 1

S5|f 4 R|EMT=R/I7 84 2

[T5EULEBF> > 7L R] [T5RUEBFLTILR]

Rank K % == A b EHAEK Rank K % B A b EHEHK
L# Il ZZ|zvaradvar=arsy 548 4 1| KLk BEHEARST =2 R 195 2
2% W R|EBIY-—> 444 1

(80U EBF> > 7L R] [80BUEBF LT ILR]

Rank K % & A b EAEK Rank K % B A b EAERK
1T & = WlEr=22s77 3554 2




2024 I TARAV F IV FVI<RTIURF>
#*H 2024/7/1

(45 LTy v LX) (45U L F LT ILR]

Rank K & o A v MEAEH Rank K 4 o A bEEH
1|7 B & F|L.E.T 617 2
1|k &8 &M b7 vE 617 2
3|/ #B B MBS —~ 15 1

(50U EzF> v 7 Lx] [50mU EZF X7 IR]

Rank K % i KA > MEEHK Rank K % i KA v MEEHK
1|8 # = F|eFerr=2s57 378 2
1|BE A& I|574vFkr7=2057 378 2
3[Rk E ;A b 254 1

(55U Lz Fv v 7 ILR] [55mU L& F X TILR]

Rank K & o A v MEEGH Rank K 4 o A bEEH
1| & ® FIMARS-T 425 1 1E) EEF|F—LTF T F 617 2

2[R = # F|HLETC 378 2
3|&= X B #|FSA 254 1
3 & & #&|FSA 254 1
5|8 AEF|79977=2257 205 1
53 1B B F|7vv77=2437 205 1
T|/NFE ZE £ F|TOY'S Tennis Lab 177 1
7/H & = FIMARS-T 177 1
9[\h B FE F|srvirr=zs37 143 1
10| H < H|FLLETC 15 1
11| T3l A FSA 6 1

(60U E&ZF> 7 ILR] [60MU LT & TILR]

Rank K % Fr B KA > MEEHK Rank K % 2 KA > MEEH
1k & & F|vvrr=zs357 143 1
2078 B & #lrrovarzzsss 100 1
(M 5L F|EBETY —~ 15 1

(65 LT > 7 LX) (65U L F&TILR]

Rank| K % i B A v MEEHK Rank| K % i B A b EHEH
1|k = F|MbTvE 505 1
21 BE B E|z71vr77=2s57 18 1
2|Z B RN Flevanacvnr=assy 18 1

(T0mUEZFY > T ILR] [T0mULEZFZTILR]

Rank K % Fr B KA > MEEK Rank K % roE A v bEEH
1N\ S I F|771v k7722057 1969 4 1IN\ S A F|771 k7722057 1927 3
21% £ M FlET=2s77 348 1 2|BIK D F|574v k7722257 18 1
3[BLAKR D F|o74 k77=2257 54 )

[T &7y 7L R] [75mU EzF XTI R]

Rank K % =) KA > bEEHK Rank K % B A v bEHEH
112k B = Fl571vr77=2257 84 2




